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LILY® SUGAR’'N CREAM®

RIBBON FLOWER DISHCLOTHS
(TO CROCHET)

MEASUREMENT
Approx 8" [20.5 cm] diameter (flat).

MATERIALS

Lily® Sugar’'n Cream®

(70.9 g/2.5 0z; 109 m/120 yds)

Main Color (MC) Yellow (00010)

or Hot Orange (01628)

or Robin’s Egg (01215) 1 ball or 40 m/44 yds
Contrast A White (00001) 1 ball or 8 m/9 yds
Note: 1 ball each of MC and A will make 2
Dishcloths.

Size 5 mm (U.S. H/8) crochet hook or size
needed to obtain gauge. Length of satin
ribbon %" [3 mm] wide. 6 stitch markers.

GAUGE
13 scand 14 rows =4"[10 cm].

ABBREVIATIONS
www.sugarncream.com/abbreviations
Approx =
Approximately
Beg = Beginning

Sc = Single crochet
Sl st = Slip stitch
Sp(s) = Space(s)

Ch = Chain(s) St(s) = Stitch(es)
Dc =Double crochet  Tog =Together
Rep = Repeat Yoh = Yarn over hook

Rnd(s) = Round(s)

INSTRUCTIONS
Note: Ch 2 at beg of each rnd does not count
asdc.

With MC, ch 4. Join with sl st to first ch to form
aring.

1st rnd: Ch 2. 10 dc in ring. Join with sl st to
firstdc.

2nd rnd: Ch 2. 2 dc in each of next 10 dc. Join
with sl st to first dc. 20 dc.

3rd rnd: Ch 2. *2 dciin next dc. 1 dc in next dc.
Rep from * around. Join with sl st to first dc.
30dc.

4th rnd: Ch 2. *1 dcin next dc. 2 dc in each of
next 2 dc. 1dcinnextdc. 1scin nextdc. Rep
from * around. Join with sl st to first dc. 42 sts.

5th rnd: Ch 2. *1 dc in next dc. 2 dc in each
of next 2 dc. 1 dcin each of next 3 dc. 1scin
next sc. Rep from * around. Join with sl st to
first dc. 54 sts.

6th rnd: Ch 2.*1 dcin each of next 3dc.2dcin
each of next 2dc. 1 dcin each of next3dc. 1 sc
in next sc. Rep from * around. Join A with sl st
to first dc. 66 sts.

7thrnd: With A, ch 1. 1 scin same sp as last sl st.
*2 scineach of next 8 dc. 1 scinnextdc. 1scin
next dc 4 rows below. Place marker on last sc.
1 scin next dc. Rep from * around, omitting sc
at end of last rep. Join with sl st to first sc.
Fasten off.

Thread satin ribbon through all marked sc.
Pull tightly and tie in a bow.
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